EZY-GUARD - MPR MEDIAN CONFIG - BoM (4 m)
ITEM [QTY |PART NUMBER |DESCRIPTION
1 2 10006773 Motorcyclist protection beam
2 2 10007332 Z-Post Bracket
3 4 10006772 Rail mounting bracket
4 4 10008536 M16x150 Stud
5 8 10001248 Round head bolt M16x32
6 4 10006769 Round head bolt M16x40
7 4 10006771 Slot Washer p70x2
8 20 10006770 Washer ¢35x17x4
9 20 10001254 M16 nut
—~——— 10 2 10006767 MPR END TERMINAL
DETAIL
DETAIL B
\ \ 1 q
L Ol 1O O r
[ 7o) _ [ <] N/
o 7 _
fo—= . [ i _~\
\ Ol 10 O
| | [ U
545
2000 2000
=] : =23 =23 ! =]
L = =3 > >
f o Fo ron
\ = =2 =3 =3 \
) == E— j
[ 1 [}
\
\ © ©® ® (10)
' O O O —
iv[ﬂii fi NOTES:
M 1. ALL STEELWORK TO BE HOT DIP GALVANISED AFTER FABRICATION TO AS/NZS 4680
AND STRAIGHTENED AFTER GALVANISING IF REQUIRED.
2. TOBEREAD IN CONJUNCTION WITH INGAL PRODUCT MANUAL
IHEAL @VIL  INGAL CIVIL PRODUCTS PROJECT INGAL CIMIL PRODUCTS
a NAME DATE N, £7-65 ARDS ROAD PART No.
4] % DRAWN MC 25/07/16 8 AN 208 3333 10008537
9 4 15-03-2024 | OVERSIZE NUT REPLACED BY STANDARD NUT KZ MW KZ E CHECKED LG 25/07/16 Mﬂ@ TTRRT m;s'é‘,‘%:‘m
2 3 18-10-2021 | DIM CORRECTION VB LG LG H-_l DRAMNG AND cm.rm.l.‘s r& O‘OPYI;IGHT T0 T”LE DRAMNG NO.
o s | mewsveorres v s e b APPROVED e BI0THE | \NGAL CIVL PRODUCTS AND CAN ONLY BE USED INGAL MPR MOTORCYCLIST PROTECTION
el LI | STOUONTED < = L o= SCALE NTS. @ A3 !‘;MS%%" WRITTEN CONSENT FROM INGAL CML EZY-GUARD BACK-TO-BACK CONFIGURATION ICP-MPR-010
REV | DATE DESCRIPTION DRAWN | CHECKED |APPROVED DRAWING NUMBER | REFERENCE DRAWINGS ISSUE FOR INFORMATION ONLY ASSEMBLY DETAILS o 4
ey

F\ENGINEERING\SALES & MARKETING\DRAWINGS\INGAL MPR\ICP-MPR-010 - EZY-GUARD WITH MPR BACK-TO-BACK.DWG


AutoCAD SHX Text
A

AutoCAD SHX Text
DETAIL A

AutoCAD SHX Text
DETAIL B

AutoCAD SHX Text
B

AutoCAD SHX Text
DRAWN

AutoCAD SHX Text
REV

AutoCAD SHX Text
DATE

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
CHECKED

AutoCAD SHX Text
APPROVED

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
REFERENCES

AutoCAD SHX Text
DRAWING NUMBER

AutoCAD SHX Text
REFERENCE DRAWINGS

AutoCAD SHX Text
INGAL CIVIL PRODUCTS 57-65 AIRDS ROAD MINTO, N.S.W AUSTRALIA 2566 PH. +61 2 9827 3333 FAX +61 2 9827 3300 www.ingalcivil.com.au

AutoCAD SHX Text
DRAWING AND CONTENTS ARE COPYRIGHT TO 

AutoCAD SHX Text
 WITH PRIOR WRITTEN CONSENT FROM INGAL CIVIL

AutoCAD SHX Text
INGAL CIVIL PRODUCTS AND CAN ONLY BE USED

AutoCAD SHX Text
TITLE

AutoCAD SHX Text
PROJECT

AutoCAD SHX Text
INGAL CIVIL PRODUCTS

AutoCAD SHX Text
PART No.

AutoCAD SHX Text
DRAWING No.

AutoCAD SHX Text
 PRODUCTS 

AutoCAD SHX Text
NOTES: 1. ALL STEELWORK TO BE HOT DIP GALVANISED AFTER FABRICATION TO AS/NZS 4680 ALL STEELWORK TO BE HOT DIP GALVANISED AFTER FABRICATION TO AS/NZS 4680 AND STRAIGHTENED AFTER GALVANISING IF REQUIRED. 2. TO BE READ IN CONJUNCTION WITH INGAL PRODUCT MANUALTO BE READ IN CONJUNCTION WITH INGAL PRODUCT MANUAL


	Sheets and Views
	Layout1


